| Efficien

cy vs Dxy |

0.1

Xy

5 S
0 0.09F i der bbb
< A T T
R S e
o S oo
Q 0.07 it
0B
008
004 b
003

eff

5 R e o o s
s T o s o e

||.||||.||||.|||| Illﬂi. llilllllllllllllllllll

1.

Ratio

=
!

0.95

—-25

~20-15-10 =50 5 10 15 20 25
TP dxy (cm)

| Efficien

cy vs Dz |

N 0.4
©
£0.09
)
50.08
(&)
£ 0.07
()
0.06
0.05
0.04
0.03
0.02

0.0

20 =10 0 10 20 30
TP dz (cm)

—=— _/.JCMSSW_13 2 X_2023-05-08-2300/src/DQM_TT__mkFit-DQM_new132

—— DQM_TT__mkFit-DQM_newfastPlus132



	Contents
	Page 1


